
Parcel Safe Systems, LLC., 7011 E 46th Street, 74145 | parcelsafesystems.com | sales@parcelsafesystems.com | 539.999.7233 (SAFE) 

+  4” Pedestal - $300.00 and includes 4 
stainless-steel 5/16” x 7/8” bolts, flat 
washers and nylon hex nuts for 
mounting to the vault. 

Pedestals

Parcel Safe has a line of steel pedestals that allows the home or business owner to install a stand-alone Parcel Safe unit 
almost anywhere that can support the unit and area traffic. Parcel Safe units come in a pass-through or vault 
configuration. While a vaulted Parcel Safe unit can be installed in a wall with the vault component visible from the inside 
of a closet or room, in most cases the vaulted units will sit on a pedestal where it is most advantageous to the home or 
business owner.  

All pedestals are powder coated flat black, 31” tall and have the same 12” base plate with mounting holes at the bottom. 
The pedestals also have a 12” top plate with the same hole pattern and size necessary to connect the pedestal to the 
Parcel Safe vaults. 

Pedestals Specifications

Unit Price Materials Dimensions
Top Plate 

Holes
Bottom Plate 

Holes
Powder 
Finish

Weight

4” Tube $300.00 4” x 4”, 11 Ga tube steel 12”w x 12”d x 31”h 0.688 0.43 Black 34 lbs

2” Quad $300.00 2” x 2”, 7 Ga tube steel 12”w x 12”d x 31”h 0.688 0.43 Black 63 lbs

1” Quad $300.00 1” x 1”, 14 Ga tube steel 12”w x 12”d x 31”h 0.688 0.43 Black 39 lbs

Tripod $300.00 1” x 1”, 17 Ga tube steel 12”w x 12”d x 31”h 0.688 0.43 Black 25 lbs

Delta $300.00
2” x 2” & 1.5” x 1.5”, 

7 Ga tube steel
12”w x 15 3/4”d x 31”h 0.688 0.43 Black 39 lbs

+  2” Quad - $300 includes 4 stainless-
steel 5/16” x 7/8” bolts, flat washers 
and nylon hex nuts for mounting to 
the vault.

+  1” Quad - $300 includes 4 stainless-
steel 5/16” x 7/8” bolts, flat washers 
and nylon hex nuts for mounting to 
the vault.

+  Tripod - $300 includes 4 stainless-
steel 5/16” x 7/8” bolts, flat washers 
and nylon hex nuts for mounting to 
the vault. 

+  Delta - $300 includes 4 stainless-
steel 5/16” x 7/8” bolts, flat washers 
and nylon hex nuts for mounting to 
the vault.


	Slide 1

